> with(VectorCalculus) :
> n:= (-sin(0), cos(0))
n:=-sin(0)e + (cos(0))e,
> ee = (cos(0),sin(0))
ee:= (cos(0) )e, + (sin(0) e,
> ggi=-gmn
gg = (gsin(0))e, —gcos(0)e,
> RR:=R-n
RR:= -Rsin(6)e + (Rcos(0) e,
> aaM = aM-ee
aaM := (aMcos(8) e + (aMsin(0) e,
> am = aaM + {w, 0)
am := (aMcos(0) —I—w)ex—i- (aMsin(0) )ey

> NN := (0, N)

> eql := m-am — NN — m-gg

eql := (m (aMcos(0) +w) —mgsin(0) )ex—l— (maMsin(0) —N +m g cos(0) )ey

> eq2 := M-aaM + NN — RR — M-gg
eq2:= (MaMcos(6) +Rsin(6) —Mgsin(0) )e + (MaMsin(0) +N — R cos(6)

+Mgcos(0) e,
(> xl=m (aMcos(8) +w) —mgsin(0)
xI:=m (aMcos(0) +w) —mgsin(0)
> x2:=maMsin(0) —N +mgcos(0)
x2:=maMsin(0) —N +m g cos(0)
> x3:=MaMcos(0) +Rsin(0) —Mgsin(0)
x3:=MaMcos(0) +Rsin(0) —Mgsin(0)
> x4 :=MaMsin(0) + N —Rcos(0) + Mg cos(0)
x4 :=MaMsin(0) +N —Rcos(0) + Mg cos(0)
> solve({x1=0,x2=0,x3=0,x4=0}, [w,aM,R,N])
_ gsin(8) (cos(G)zm +Mcos(9)2+msin(9)2+Msin(9)2>
Mcos(8)” +msin(8)” + Msin(8)”

w , aM=

) sin(0) m g cos(0)
Mcos(e)2 —l—msin(e)2 -I—Msin(e)2
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_ Mg <cos(9)2m+Mcos(9)2+msin(6)2+Msin(G)2)
Mcos(8) +msin(8)” + Msin(6)”
_ mgcos(8) M(cos(9)2+sin(6)2) ‘
Mecos(8)” +msin(8)” + Msin(8)’
sin(0) m g cos(0) trig]
Mcos(8)” +msin(8)” + Msin(6)”
_ mgsin(6) cos(8)

m+M—cos(9)2m

, N

> simplify| -
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